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Slides 32 to 34 provide the formulation of the beam problem.

I'll cover it later, but it's good to read it and see how the
essential and natural BCs are divided

WRS and Weak statement:
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When we go from WRS to weak statement we only limit
ourselves to weight functions that are zero on essential BC. i \
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Key points for the weak statement:

- Derivative orders are balanced for weight and solutio
- Both w and u sati fy the essential BC.
For solution the actu I ential BC

o For the weight, the homogenous (e.g. 0) version of that.

2D examples:

1. Elastostatics (in class) \_L
2. Heat conduction (HW2)

R Vel
/?,' : Ved 49l
RX‘ Vxc 50@3
Re - t-don
_fJZ.. YVxedld, R« U_u
Weghd resdd  State mend We shwdy oty

58 A\

Tl we ). g%cg”@)\\/xesﬁ i
Suda a3 Y NF‘}\) (W)CC C@)\ }.

. 456
2 &l Y J’we, arese WY ta oo
R sa«h«()y Siee nj
The process of deriving the weak statement B@
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